Dr.Faisal Rana www.biochemtuition.com faisal.rana@biochemtuition.com

<C4> VECTORS Answers - Worksheet A
1 a)-p b) 2q ) 3P d) p e) —q f)ptq

g 7PT2q h)yp—q i) 2q-p -P-2¢ Kk ip-q D —-3p-2q
2 a)yuty b) w—u c)utv—-w
3 agq b)p+r ¢ r—q d)ptqtr e —q-r f) q+r—p

4 a i =(a+2b)+(a-2b)

=2a
ii =(a+2b)—(a—2b)
— 4p
b 04=10S, OB=1TR
R~ — s
A
e
Ba.
0" T
5 ai =1a
ii =b-a
i =1(b-a)
iv =a+1(b-a)=J(a+tbh)
v =1l@+b)-1la=1p

b they are parallel (and the magnitude of CD is half that of @)

parallel, 3p = 3(2p)

not parallel

parallel, (p-1q)=1(Bp-q)
parallel, (4q —2p)=-2(p —2q)
parallel, (6p +8q)=8(3p+q)
not parallel

- e o 6 o N

7 a =(2m+3n)— (4m + 2n)
=n-2m
b O_>M=%O_C>=m+%n

AM =(m+ Zn)—4m= 3n-3m

" AM =3 BC
= AM is parallel to BC
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oM =%E4 =3u-2v

AB = (Bu—-v) - (6u—4v) =3v-3u

ON = 04 + 1 AB = (6u—4v)+ 1+ (3v—3u)="5u
cM =0Bu-2v)—(v—3u)=6u-—3v

CN =(5u—-3v)—(v—3u)=8u—4v

—3v

. CN =4CM
. CN and CM are parallel

common point C .. C, M and N are collinear

a=5,b=3

—1=5b and 4a=-2
wa=-1,b=-1

0=
&

b -

1]
+ e

%
b—-a

OA + kAB

.. OFE =a+k(b—a)

OE =10D
~at+kb-a)=I;a+ 1b)

slsl sl &l &l

|

b 2+b=0and a—4=0
v a=4, b=-2

d 2a+6=0and b—-a=0
v a=-3, b=-3

© Solomon Press


www.biochemtuition.com

	B
	O							    T

	Text1: Dr.Faisal Rana                   www.biochemtuition.com          faisal.rana@biochemtuition.com


